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Note: - You have four choices for each objective type question as A, B, C and D. The choice which you think i
question number in your answer book. Use marker or pen to fill the circles. Cutting or filling up two or m
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SECTION-A (i.» SWL—[—-2>x
Q.1 Questions /=11 A B C D |
. . e Tl ionr S BE| pipiigd etk | cnld | copel
. i & : Stationa Stationa Small Magnetic
The presence of magnetic field can be detected by a: . positive nsm«mo negative n:mqqmm mass compass
2. [The formula of electric intensity is: - el BT 1S 2 E=V/q E=k/q E=F/q E=W/V
.-Q\ kQ...n.\ mgQuP\ust_.wh Lz \u\w.\k. \».C.thrs\:hmxbxh
3+ |If two resistors of 6kQ and 4kQ are connected in series ther 2kQ 10kQ) 24 kQ 12 kO
equivalent resistance is: i
4. |Specific resistance of copper is: ¢ kM 1.69x1080m | 1.70x10-80m 2.75x108Qm | 5.25x108Qm
5. (The unit of intensity of sound is: ¢$ﬁmqm\wn 1T Wm Wm Wm2 W-im
6. |Refractive index of ice is: AN TNAY 1.66 1.36 1.33 131
el A 13t oo Jo L Z 5T
7. _moq 2 _ﬁﬂam_ person, audible frequency range for sound wave | 20Hz-20kHz 30Hz-30kHz | 25Hz-20kHz | 10Hz-10KHz
ies between: -
Wl Thn ¥ S bt I S AR AN ey #0505 | Cenfth | fiinf e
8. |If the mass of the bob of a pendulum is increased by a factor |Be increased by a Remain the same | B€ decreased |Be decreased by
of 3, the period of pendulum’s motion will: factor 2 by a factor 2 factor 4
Sy _un.aqx_\nw VAL LI Ao LMLz Rx{@&_\\%& J: 3y | i G | Lup o3 JEE
3. Whenahea nucleus is split into two lighter nuclei, the Absorb nuclear Release nuclear | Absorbchemical | Release chemical
process would: i energy enemgy energy energy
14 - I VIS Po) 4 iy 30 150 138 190
' IHalf life of polonium (' Po) is: 30 days 150 days 138 days 190 days
" 26" 1L XIX=AB S| Bl Anl B=0sA=0 | B=1.sA=0 | B=0.iA=|
"I X=A.B then X is “1” when: A=landB=1 A=0and B=0 A=0andB=1 | A=landB=0
12. |How many parts does the CBIS consist of ? ?....Quw. 422 CBIS 2 2 % > |
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Draw 8 Uansvirsa wiave with s amphticdo of 2om and

gl
£ ’
PSSl MR RS
wavelnngth éem. labelt a gresl and trough on thin wive 4 =

Define vibrat on and frequency

Lprin is ,‘»".g.,,a,);'u*:’z wavs S JE Ui
ERYATd SN

v Deline refinction of wave ,(é..g/;d[;.m"j?, il
W Detne electic Tield é.gij DS i
v e ploctng stens ity @ veotor quantity? What will be its direction? ?J;:y._-jéwu'_ ,li//'g;,.,(lég!.f/“.}!y v
v What it electrostabe induclion? TL ,l/y‘:.g‘;iw?f":/"’:i A
G Prove that tRWh=3.6M) WWN=3.6M:E et i
v Whalis the difference between e.m.f and potential difforanco? ?‘.'O}y“f:‘f.ﬁf'j;i“"‘métrg‘é; i
3. \Write down short answers to any FIVE pafts. (5x2=10) -é; Vi .:,W,"? L.mé;:.él -3
i Whatis SONAR? fe Vir i
What s the dierence between musical sound and noise? ?{:LJ)I_/{_,’:,F»'}?DV‘-JI:’ 4
s, On whal factors does the loudness of sound depend? Yéfﬂ4kf’lf.fab‘;'¥u‘:551$h> it
w  Defne intemnet and wnte down its two advantages. ,Pf Qﬁ’QnLJMIéé_E,J J._-: iy
v. Whatis the difference between a hard disk and a floppy disk? (PRSI uﬁJQ»‘,’!JiL‘, v
vt Wrie down any two uses of optical fibre. -éu}l’.-‘-ﬂ’?’vﬁi 5;/{‘%{ vi
vie. Define nuclear transmutlation, -é.:gﬁd;f"fjf};!z’ it
vii. Wnte down any two uses of radioisotopes. _ngu?;,,LJ,}/,'zé, i
(PTO) (21
@
4. Write down short answers to any FIVE parts, (5x2=10) _é\':‘{ bz /'f L,tr:légc_éf .4
i Whnat is (he difference between a lerrestrial telescope and a refracting telescope? ?.;,J)y‘ﬁ.,!'&.ﬂﬂ S .,J’&p"/‘v’:i B
i Draw 3 ray diagram of the virtual image formed by a plane mirror. .g;&,(l/yi BT Rl peifh i
i, Why does dispersion of light occur? ?4..5£:_..;x'\, \;’A,{SJL‘))L i
~  Vvhatis the difference between a generalor and a motor? ?c‘-d}yuﬁh',ﬂ,é FR{RY
¢ On what principle does a DC motor work? ?4_8/(74Jﬂljif§d$ RY
vi How can you compare the logic operation X=A.B with usual operation of multiplication? Q,&'Z‘E/ a,‘.( P :lr'(—.(j"“)(=A.Ba?-.'.L.§s‘~(l' i
v Whatis the cause of glow in the cathode-ray tube? felf 4:6..4(4,’0’-._.«::'4,. W vii
s Define OR gate and draw its symbolic diagram. _é,b,ﬂ/&dd"wdw,:tél{q »76.',;".1’ il

Hote: Atternpt any TWO questions. Each question carries NINE marks.

5,

SECTION-C/r.»

,éicyb’éi—ﬂg;ifxf ;,»,_f )awéd /, /J.&Q“’JJ{J 5}!5 ) (o)

C))
(a) Deling longitudinal waves, Describe an activity to produce longltudinal waves. (4)
(57 sSrvrasdgim/wdis.¢ H P s S 5{50V¢,.u=ng.1,u‘)"'-’¢1oovfe.g..»;—o;é,+2c..x_’» ()
(b) Apont chame of + 2C 1 ranvfenod from a point al potenial 100V i a point al polentil 50V, What would be the enery suppéad by the charga? (5)
) Fendn/s A ISFEL P sl i
(3) Explain the transmission of light signals through optical filires with the help of adiagram.  (3+1)
(5) cu;(,.,J;,yefx,md‘ndao'.m/m)us.‘;,dus.zs.ﬂwv.ésou;ﬂég;, W
(b) Cobalt-60 is a radioactive element with half life of §.25 yoars What fraction of the criginal sample will be left after 26 years?(5)
(1+14141) .;‘-WJ’.;»:‘?‘:,‘}.*"JQ 185 J 8 5L W DS
(3) Write down In detail, the deflaction of electrons by electric and magnelic fields. Draw & diagram also. (1414149

(5) .EE()”.;»L).mﬁ;{dé!.g!“#ﬁémcm@.q’8cm; "3‘./3'6«}‘}»:’«165’-4—%"13?1'61’%:(‘ ()
(b) Anob}odlsdanhighmdisplacodaladislanceo!munmnawnmxlensdfocalIengmBan.CelwlalBprosiﬁonandsizenfm

e 01 r»
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Note:—You have four choices for each objective type question as A,
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question number in your answer book. Use marker or pen to

B, C and D. The choice which you think is correct, fill that circle in front of #
fill the circles. Cutting or filling up two or more circles will result no mark.

: SECTION-A Uir SUUL~-2 DY
l ; -
Q.1 ] Questions /-1» A B ( D
= -?J‘?J{'J‘jj}é’f/) {’5(.5/(3-2;1 2244 21T {”UKJ_E
Which is an example of longitudinal wave? Light wave Radio wave Sound wave | Water wa
~ewiin B HFES A £ , - 3
‘. 5 <ol ﬂ,:-—C:/LfJU?/ Sy AIJL / )?/gg v'/_JL;_f s
The most penetrating radiations are: p d Beta particles | Gamma rays Light ray
L particles §
,' 3 e K S A ST 2K JS A
What does the term E-mail stand for? Emergency mail| Electronic mail Extra mail External m.
| - . 3 P B B .
| o oo sy Ao | ek (i | sl | s
and Gamm Ray, the chane i s nmber e | Increasebya | increase by2 | Docresse by | 5o cian
;L@QMZJCi@J&/L’:q':’,c.uf/’lﬁdn(f(/ bfufll;h@?’ﬁ J&; j [ J”Lﬁfd:/‘; j '
> VNIV : i Remains the . i
If the current in a wire which is placed perpendicular IREreases Derreases same Unlheess
to a magnetic field increases, the force on the wire-
y e bnb b LS 20 A P s 2
" | Which metal is used as the filament of an electric bulb? Aluminium Copper Silver Tungsten
{Continued / PTO) A
d “)
_l Questions /=i A B C D
-wu;u‘vib/féc;gd/b;{(fﬁ}?&éf ?/T;-'J&, ?/T}:g '/73/_{ }33/5..3/
7 The particles emitted from a hot cathode surface are: | Positive ions Negative ions Protons Electrons
byt Sadesd Libd B me b Liftl10C
| _bfﬁu";,)fﬁjch/JL;«LU?u:;»ul-L
| e : 2V 5V 10V
| 8| 5Joules of work is needed to shift 10 C of charge 05V
i from one place to another. The potential difference
i between both the places is: i
| N1 u-,_ﬂ‘ _/..JTJQ'-L.‘;H;‘KJ l‘¢_45°¢—gd/u";~ﬁg_/‘l..5”ug-4cﬂu:£ Jga JL/(O/ 24 300 450 a0 90°
2. During reflection of light, the angle of incidence is
45°. its corresponding angle of reflection is:
-c‘_t'né"vudl)lz_ul;%t‘/f&/{ 3A _)c_u:/'ui QL] v - oo -
10.| What is the voltage across a 642 resistor when 3A of 2
) current passes through it?
SnsEEp et S S La i b e . n
11./ The bob of a simple pendulum completes 2 cycles in el i I Hz 2Hz 2.5Hz
one second. Its frequency will be:
_wdj//gﬁ?.giyy@?)}glraufrxg u”:-(/ iﬂf{’; L{g};‘:l ix
12 In vacuum, all electromagnetic waves have same: Frequency Wavelength Amplitude Speed

116-224-1A-25000 * % * %



2. Y¥IHO QOWI SV QRSWLETS (U Bty FIVE pilias. NaRL= W\ e hs WS MwliRNd Yt &
i. Define mechanical and elactromagnelic waves, ,gé_z ,,‘i‘j Je ,,,6_'1.’, /»Q;,;.J?:(' A
ii th of a simple pendulum is ted, what wi - 1 N

ii. Hthe leng a simple p doubled, what will be the ?J&Id‘./\;L‘(U:4(;'r(}béJUZ-'P&’/V”{LSVJH’*}”"/' i

change in ils time period?
What type of waves do not require any material medium for thalr propagation? 1’8 sl .z,;,a‘dfz e dLes WJU.’J.; LSS f il

iv. Draw elecliic figld lines for two negative polnt chargos. ‘wgﬁﬂﬂ.)-f/'-(fldf(mf.ia&&qr'-‘gn v
v. Draw a diagram of three capacitors which are combined parallel. undetre s )LJ![.JK‘;‘:-L" SIS b,,-lf LI

i SN E TN i

vi_ State Coloumb’s Law and write down its formuta,
1V olnd § patls i

vii. Whatis the difference between a cell and a battery?

viii  State Ohm's law. Write S1 unit of resistance. ..‘_’.d.p‘;' Sy f;;,é_’-!g,‘gd]ﬂﬁﬁ i
3. Write down short answers to any FIVE parts. (5x2=10) -"ééf »‘/W-/;? ‘f»‘f’ék—df -3

i. \What are necessary conditions for the production of sound? Y balu babv fYiNg df-:-'—é—d'—ﬁy,f iv .
tebra 12 Sl s i

ii. On what factors does the loudness of sound depend?
?q—:l/t_/a&:'fgfi it

iii. Whatis meant by noise poliution?
. What is the difference between data and information? fed SUUEST ats
?édngf-d:ﬁ(}: M f.’/ Y

v. Whatis the difference between RAM and ROM memories?
?c'_»l,—yc_f.‘ Lyt i

vi. Whatis meant by a compact disc (CD)?

vii.  How is fission chain reaction controlled? M,—%‘!d’ / 4 fJ’(-p(j,wr_;’j; Wit
viii. Whatis the difference between stable and unstable nuclei? "(,—J/'Lf‘-':&gf{é;‘?/-’.»’ﬁ.’? viii
(PTO) =)
(2)
4. Write down short answers to any FIVE parts. (5x2=10) .é; F .;W/'"’ L.hﬂ&&aé! 4
i. Define power of a lens and write down its unit. ,&f :){b’dh,lé‘-.{_g A duyj 0
ii. Define resolving power and magnifying power, ‘é.ilr._g ,JJ ,,&._Es[y-b l ,,5._{ hz. i
ji. Why the focal length of convex mirror is taken as negative? ?4,8_@6&’ ur ;@J}é, ,‘/é & i
iv. V¢hatis the working principle of DC motor? ?zr.ydmu’_,/ rv[,}ro‘g’; v
v. Write the rule for finding the direction of magnaetic fieid around a , ; ‘. .
current carrying conductor (wire), -d—o (rule) 2 ¥/ (}"‘ B g S L/ Lt
vi. InCROwhy and how the filament is heated? S bbb S AT LB UCRO i
vii. Write the truth table and symbol of AND gate. -g;t,.—,-wdm,na" JE 2L AND il
- a
viii. Define thermionic emission. .éé..,y /IJ;,/-' e /? viii
SECTION-C /r.» .
Note: Attempt any TWO questions. Each question carries NINE marks. 7. /(9)}Ldlrﬂ.éé4/’ ezl ctirnadfiad

192 SUESL TP Pt o LS B arbire s S50 o1 (0. m DA ISH.5
5.(a)What is meant by e.m.f ? Explain with the help of a diagram that how we can measure polential difference in a circuit?  (1+1+2)
6 LU &'{f}(—{q.ﬂ-nn"b;y 0.08C 4T Lbirtisp S 1z e pd QV,xf/‘.’-"/ L)
(b) A capacitor holds 0,06 Coulombs of charge when fully charged by a 9 Voit battery. Calculate capacitance of the capacitor. (5)
are1r) 2 fafdecay) L83 1 A by b ?d'&—%fvf(ﬂuw/dl}ﬁ‘ﬂdﬁ-ﬁ
6.(a)What do you know about nucloar transmutation? Write down equations of Alpha, Beta and Gamma decay. (1+1+140)
() Thmhnchot L Lo /b SoB¥1.5 km <l 235 om m2kHzoZ A0 £ Sl fi()
(b) A sound wave has a frequency of 2kHz and wavelength of 35¢m. How long will it take to travel 1.5 km? (5)
7.(a)What is NAND gate? Wrile its symbol and truth table. (1+1+2) _2 d‘—: 23}k ,:,:wéu[,éq /J_»,_f (T
®) Sty 73 o bEiS bbb of o orba g Bem B Si8 b7 L) ()
(b) A convex lens of focal length & cm is to be used to form a virtual image three lzme size of the object. Where should the lens be placed? (5)

- 11R.224.14-25000
ﬂ%
-

CamScanner



